Blue Monk

Improvisation by Bill Frisell

Transcription: Jan Jakut

Bo?
per

L PP e,

e

P
1

(TS

sl.

: 8—9
67— 10+

6l5
5

a

G7

Buw7

Ev7

2 ./ i~
q n ©
.-.II—V -}
Eiuyg
T ./ i~
q n ©
.—.Ikw ™
el
q ©? ©
o 10
s .’ i~
q o ©
.—.Ili._ ™
-t 4 =
q " ©
B I
€% M
4 ~»M
L | oo
N
q ©|o®
Ao.riv K
= P @
o ‘& e
©| o
Dl
ﬂ K
— | 2
o -y
N
N
oM ©| o
e\
s i~
~ ~M
I o -]
_ 7
o« ol uﬂ
i u oy i
otnlli ==
e T2
EES
LN
™
lm o
10

F7

Bn7

F7

Cm7

[ I
[ 18 ._3
o ||
~
1
~
[ I
At
‘l L
e
ﬁll!
i
e
[ I
N
aill
=
q
q
d
A-_ M
2
3
.H-
Lﬂlw
A
M
oI
Al
< w\o«o
)

sl.

sl.

sl.

sl.

1010,

o
!

o &

9-10

2
3
67

il I
il ;
I !
b I
r LHI.
™ / 5
L+
e
ﬁ e
R e
S
e
(A
EXS
~y ~M
[l L
~t g 4
~ M
e
LHU.
NN
T -
x4y @
[ 1IN ©
[ ©
]
illg - ©
R © =]
llll -
N ol ._ o
. i
(YN ™ =
~[[]]]] +
ol ]
~ ﬁ (YH ._3 = ..W
2
@ |
N
KN
o, %



https://youtu.be/UO8By228BU8
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